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h = (5%58) C YN =R X e AL /5 SHET MIRER
B | BEENMER = T MR AE BELVI— RIEE®E | fEEHE

M E £ (—RIREE) nE) (BRERED) | (RERAD) | (FRERED) | (BREFEED)

Rty tg/m 0.74 1.1 0.73 1.1 0.51 — 3 /

r)yooTFLY Ug/m 0.061 0.10 0.012 0.056 0.017 — 200 /

FrSHOQIFLY Ug/md 0.067 0.026 0.012 0.034 0.021 — 200 /

ooppAay Ug/mé 0.67 0.76 0.50 15 1.3 — 150

FoUyR=rJjL Ug/md 0.069 0.050 0.58 0.044 0.030 — / 2

BiEEZLE/Y— Ug/m 0.030 0.018 0.019 0.017 0.013 — / 10

7inInb; JWN [g/md 0.16 0.12 0.20 0.097 0.14 — / 18

1.2—oonnT4ay Ug/m 0.13 0.11 0.20 1.3 0.10 — / 16

13—J4oTy 1g/m 0.067 0.11 0.061 0.081 0.012 — / 2.5

KEBRUZDIEEH ng/m’ 2.0 2.3 - - - - / 40

= ILEE ng/m? 3.6 — — — 35 — / 25

EXRUVZDILEY ng/m® 18 — — — 16 4.4 / 6

IVAVRUZDILEY ng/m° 24 — — — 9.6 — 140

7T ILTER teg/md 1.5 1.9 1.6 — — —

BieTFLY Ug/m 0.038 — 0.045 - — — i

ROV@ELY ng/m’ 019 0.30 _ - - _ ToSOEM=LY,
SEHEHESNK

HRILLTILTER Ug/md 1.4 1.7 15 — — — EANBFE

RNYYI LRUZDIEEY | ng/m? 0.033 — — — 0.012 —

JOLRUZDILEY ng/m? 42 — — — 24 —

1BIEAFIL feg/m 1.1 1.1 1.1 1.0 1.0 —

MLTY Ug/m 5.3 4.4 2.7 5.2 1.0 —
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